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1. HEBOKEELFNE a5 b=t 498,213 454,153 91.2%
2. X AR VRSN T S 5 & 231.633 117.554 50.8%
3. HHE B BB N EOFA 5 & 45.024 13.200 39.3%
4. MABREBEFE (eLTAX) a5 bt 885,048 659,889 74.6%
5. BN S (BERRDS] & FEAL
6. BREROREBIN T SEEODE X IHE ERE0] = FHnL
7. BT E SR EERRS) = FHnL
8. KEERRAES 5 & 88.238 14314 16.2%
0. EEMETE & FEAL
10. BiREAHFrRES a5 B 7,055 4,597 65.2%
11, BrEmoI0RH EEE0H] & FEA0
12, ADEORESTIORE (R0 = FHnL
13, BBOHE0nE = FHnL
14. FEIEHEDR B * RASTLAL
1 5. HARCHINEDRA B * RASSLAL
16. EREENOE. BROSERE 5 ENNES
17. ROSHTE. LR 5 3 6.841 250 3.7%
15, BRnHaHE 5 S
1 9. BEIRARERPIA 5 bt 3,092 3,090 99.9%
20. MLBIEREETAE 5 ENES T
21. A#L a5 bt 2,887 2,808 97.3%
22. RBR PR RN S 5 & 1.545 86 5.6%
2 3. B b5 RS 5 ENMES T
2 4. AXERRER 5 bt 1,823 154 8.4%
v 5t (1~2 4ME) 1,771,403 1,270,104 71.7%
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7. FEEFK
1. BEFHEORIGERRVEEFHOECOVTOREHA =] =i 5,071 12 0.2%
2. REFHFOHEOREDERRUEH (=l =i 2,757 3 0.1%
3. KREE /MIFEEEQREH =] bzl 353 2 0.6%
4. RHEEHBEROED (=l =i 2,412 4 0.2%
5. KD REFHEFEDHE =] bzl 34 0 0.0%
6. BEFHECHITHOHH =] =l 0 0 -
7. BEFHCFRITFMEELZORE (=l =l 0 0 -
8. RHEEREORICISZFRISBEZEDHINEORTH (=l =4 0 0 -
9. RHEEREBORHICIIFRISBEZDHINEQOEEEDHH (=l =l 0 0 -
10. BEFHEORNE (=l =l 1,778 0 0.0%
11. SIGEREDHEE (=l =l 10,300 0 0.0%
1 2. REMEREOFARA (=l =i 9,900 0 0.0%
13. REMEREORIE (=l & 22,000 0 0.0%
14. REXEFHORNEOEIXE =] X RAYSAAE
15. {HROEH (=] & 5,662 0 0.0%
1. &R
1. BNGE EERTEORE (=l =i 10,621 0 0.0%
2. BN -BETHEREOHE (=l =i 25,592 0 0.0%
3. BN - EEREXOEERTEDORE =] el 5,578 0 0.0%
4. BFE (NETH) Y-EXETEER (£EF) KEOEL (=l =i 15,895 0 0.0%
5. MERREIBIISITOBRMEPE =] a4 1,995 0 0.0%
6. HRRMREIOHEIEHEE (=l a4 3,499 0 0.0%
7. SENE (P H-EXBEOZIGHE (=l =i 4,477 0 0.0%
8. NMERRGBIREHEEERE (=l =i 6,227 0 0.0%
9. BENE NEFH) BUREBABOIGHE =] bzl 3,079 0 0.0%
10. EENE (METH) FEREEOIGHRE (=l =i 2,725 0 0.0%
11, FFBEEOERNE - BRI EHE (=l =i 286 0 0.0%
0. WEIERG
1. BSGIREORITHE =] bzl 35 0 0.0%
2. ISRRERIFEDAEHE (=l x RAYSAE
3. ISRMEIEORHEERE =l x RAVSAAE
4. EEVREORMEHE i FhHRL
5. KEBREDOTHEHHE (=l x RAYSAE
6. XEBERESOIGHE (=l x RAYSAE
7. KEEEESOEMHE (=l x RAVSAE
8. WANEBEL EREESOIGHH (=l x RAYSAAE
T. 3 -BAFHRER
1. s =] i 7,432 1,474 19.8%
2. AT = FhHRL
N (P~I05t) 147,708 1,495 1.0%
= st 1,919,111 1,271,599 66.3%




